Table S17: Levels of let-7 miRNA in adult females and males
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a: AC + was determined by subtracting the average 2SrRNA Ct value from the
average Experimental Cy value. The standard deviation of the difference is calculated
from the standard deviation of the Experimental and 2SrRNA values using the

formula s = V(s:? + s,%) where s = standard deviation

b: AAC+is calculated by subtracting the AC+ control value (AC+ of female carcasses).
The standard deviation is the same as for AC+
c: the fold difference between the Experimental Sample and the control is calculated
by: 2**4“T with AAC+ -s and AACt—s where s is the standard deviation of AACt value
The fold difference of the experimental values was compared to the respective
control. P-value was calculated using the two tailed Students t-test. *p<0.05.
**p<0.005. ***p<0.0005

3158l

D. Fagegaltier et al.






